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Using the marked points, draw a triangle having an area TWICE that of
the rectangle ABCD.
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Code |Rcspuuse Item: M042130

Correct Response

10 | Using marked points, draw a triangle with area 24 square units. For example, AZW, ZWX,
XAW, XZA, AYW, BZX, and XWD.
Incorrect Response

70 | Triangle with area 12 square units drawn

79 | Other Incorrect (including crossed out, erased, stray marks, illegible, or off task)
Nonresponse

99 | Blank
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When the shape shown above is folded up, it will make a rectangular box.

What is the volume of the box?

Answer: cm’

5cm
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Mike and Katy are planning a day trip for their class.

They plan to go from their school in Ourtown to one of the towns of Acton,
Burley, Camford, or Darley.

% Burley

il Canmford

L Map drawn to scale




Since the teacher said they must return on the same day, the class cannot travel
to a town that is more than 80 km from Ourtown. Given that it is 80 km from
Ourtown to Camford, use the map above to help you complete the table below by
entering Yes or No in the blank spaces.

Acton | Burley Camford | Darley

Meets condition of

Yes
80 km or less ¢

Code | Response Item: M032754
Correct Response
10 | Acton - Yes; Burley - Noy Darley - Yes

[ncorrect Response
70 | 2outof 3 correct

79 | Other Incorrect (including crossed out/erased, stray marks, illegible, or off task)

Nnnrespnnse
99 | Blank
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PQRSTU is a regular hexagon. What is the measure of the angle QUS?

: Jlpead) ilaglan —5

(M032205-M05_09)

Sl o Ay L

: Jlgd) ciliilas) —6

Lgal

Lbal) 4l

col9all Jaugial)

Haa

SN

™

: Jlpedd) il o (ylat —T

Crpmaddl lhall A sl fpa 8 /51,5 Jlsad) 18 e danaia Ala) Talad cpdl) algall dpal)
fel WS Jlsed) Jilay e (el 2l cylidl Caegi Sy /38,6 danaia ks Iplal opl)



1.7 (1) dadl 15 )us) 7/15.2 e
dapnall LY sy (@) didl 15)6a) 738.6 @
(z) dad 15,1 /16.1
(9 el 15 )5a) /15.8 e
:dgadle cialdy) -8
IS8 () Jalay Ll lnyy JISEY) dijma b i sa Jlsadl 138 i 8 IS0 o e
gualsi dd el JISEY) dpuat Bk o ASEA) 228 dallae Sy



MO032097 : is @.ul.’d\ Jed) —1
o) Cita —2
Al Ry Jlsed -3
M07_07

Sl e S gledin s fla ) ol sl g o sle yaga
L pasl 4y ledia

VOV E A Al ded

AL @
@
@
Yéuu @

sty ARG Jsad) —4

A circular pond has a radius of 10 meters. There is an average of 2 frogs per
square meter in the pond. Approximately how many frogs are in the pond?

1 is approximately 3.14

(A 120
® 300
(©) 600

(O 2400
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What is the area, in square cm, of the figure shown above?
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In the figure above, points A, O, and B lie on a line. OM bisects angle BOC and
ON bisects angle AOC. What is the value of x?
Answer:
Code | Response Item: M032414
| Correct Response

10 | 50 (with or without degrees)

| Incorrect Response

70 | 40 (with or without degrees)

79 | Other incorrect (including crossed out/erased, stray marks, illegible, or off task)

| Nonresponse

99 | Blank
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M N

Two points M and N are shown in the figure above. John is looking for a point P
such that MNP is an isosceles triangle. Which of these points could be point P?
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